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it %Y P YEW e ¥ # %
F() AlF2 ¥+ 820 ~
Al HG) | AlH2 - # 1,230 =
(Baw W4 5 247) | v) | A1V2 = 1,640 &
o(¥r) | A102 z i* 2,050 ~
F(L) A2F3 ¥ ¢ 800 ~
A2 H(#) | A2H3 - #1,190
(4w EF 2 EF) | v() | A2v3 = #1580 &
O( #r) A203 r i+ 1970 ~
F(+) | BiF4 H 1,090 ~
B1 H(#) | B1H4 - 1,770 &
(Fedw 543 #4) | v(z) | Blv4 = % 2450 &
O( #r) B104 7 ¢ 3,130 ~
Ly 28 e B F(+) | B2F4 H 1,090 ~
B2 HG) | B2H4 - #1770 =
(B4 B & 8¥) | v(z) | B2v4 = % 2450 &
o(i*) | B204 w it 3,130 &
o1 VF(#2 ) | CIVF3 H % 1,270 =
Pl HF(Ck =) | CIHF3 - #2130 &
W B F 7 ) s [cvhs = 2990~
2 VF(£2)| C2VF3 H £ 1,150 ~
el HF(Ck =) | C2HF3 - % 1,800 &
(B8 3 R ARTR) 1)) s [Covi = 32630 A
e 1 VF(# 3 ) | DIVFA4 ¥ % 1,870 =
R ral HF(Ck =) | DIHF4 - #3330 =
(88 53 3 %) L usy [Divia Z 4790 &
. VF(:7 ) | D2VF4 H % 1,740 &
L HF(Ck =) | D2HF4 - #3070 &
(B8 5 B 2R 1) [Davha = i 4,400 &
F(x) Al1F5 H i+ 960 ~
Al H(#) | AIHS - #1510 =
(» s F 3 )| v(z) | ALVS = 2,060 =
O #) A105 > i+ 2610 ~
FEmp L2t F(x) | B1F5 ¥+ 1,870 ~
Bl H(#) | BIHS - #3330~
(% 4 59+ %) v(z) | BIV5 Z #4790 =
O( #r) B105 7 ¢ 6,250
o1 VF(# 3 ) | CIVF5 ¥ % 1,850 =
= T HF(Ck =) | CIHF5 - %3290 &
(7 S =F F PR ey [cives = 4730 A
1 VF(# % ) | DIVF5 ¥ i+ 3,050 &
i HF(Ck =) | DIHF5 - #5500 &
(7 8 %5 3 B[ s [DIvHS = 7,050 &




